## BID TABULATION STREET GRADING, BASE AND UTILITIES PROJECT BB-08 RIVERHEATH

				#1 - Vinton Const.		#2 - Advance Const., Inc.		#3 - PTS Contractors, Inc.		#4 - Van Straten Const. Co.		#5 - Kruczek Const., Inc.		#6 - Carl Bowers
				Unit	Total/\$	Unit	Total/\$	Unit	Total/\$	Unit	Total/\$	Unit	Total/\$	Unit
ltem	<u>Description</u>	Qty./	<u>Unit</u>	Price/\$		Price/\$		Price/\$		Price/\$		Price/\$		Price/\$
1	Furnish & Install Lift Station	1	LS	\$129,872.00	\$129,872.00	\$113,602.00	\$113,602.00	\$144,380.00 *	\$144,380.00	\$145,000.00	\$145,000.00	\$138,000.00	\$138,000.00	\$195,000.00
2	Furnish & Install 4" Force Main	75	Each	\$37.00	\$2,775.00	\$56.00	\$4,200.00	\$109.00	\$8,175.00	\$100.00	\$7,500.00	\$70.00	\$5,250.00	\$90.00
3	Abandon Hydrant	2	Each	\$600.00	\$1,200.00	\$500.00	\$1,000.00	\$335.00	\$670.00	\$1,500.00	\$3,000.00	\$750.00	\$1,500.00	\$800.00
4	Furnish & Install Relocate Hydrant	1	Each	\$840.00	\$840.00	\$700.00	\$700.00	\$1,570.00	\$1,570.00	\$1,500.00	\$1,500.00	\$750.00	\$750.00	\$900.00
5	Furnish & Install 12" Water Main	2,480	LF	\$47.00	\$116,560.00	\$50.00	\$124,000.00	\$69.00	\$171,120.00	\$65.00	\$161,200.00	\$80.00	\$198,400.00	\$75.00
6	Furnish & Install 8" Water Main	120	LF	\$46.00	\$5,520.00	\$67.40	\$8,088.00	\$69.00	\$8,280.00	\$54.00	\$6,480.00	\$70.00	\$8,400.00	\$70.00
7	Furnish & Install Hydrant Lead	90	LF	\$30.00	\$2,700.00	\$55.70	\$5,013.00	\$63.00	\$5,670.00	\$54.00	\$4,860.00	\$70.00	\$6,300.00	\$65.00
8	Furnish & Install 12" Gate Valve	13	Each	\$2,544.00	\$33,072.00	\$2,454.00	\$31,902.00	\$2,720.00	\$35,360.00	\$3,000.00	\$39,000.00	\$2,800.00	\$36,400.00	\$3,000.00
9	Furnish & Install 8" Gate Valve	3	Each	\$1,378.00	\$4,134.00	\$1,328.00	\$3,984.00	\$1,450.00	\$4,350.00	\$2,500.00	\$7,500.00	\$1,400.00	\$4,200.00	\$1,600.00
10	Furnish & Install 6" Gate Valve	7	Each	\$954.00	\$6,678.00	\$907.00	\$6,349.00	\$1,075.00	\$7,525.00	\$1,200.00	\$8,400.00	\$960.00	\$6,720.00	\$1,200.00
11	Furnish & Install 12" Bends	16	Each	\$480.00	\$7,680.00	\$961.00	\$15,376.00	\$730.00	\$11,680.00	\$600.00	\$9,600.00	\$580.00	\$9,280.00	\$1,000.00
12	Furnish & Install 8" Bends	3	Each	\$300.00	\$900.00	\$614.00	\$1,842.00	\$475.00	\$1,425.00	\$350.00	\$1,050.00	\$2,350.00	\$7,050.00	\$700.00
13	Furnish & Install 6" Bends	1	Each	\$235.00	\$235.00	\$332.00	\$332.00	\$347.00	\$347.00	\$300.00	\$300.00	\$114.50	\$114.50	\$400.00
14	Furnish & Install Hydrant	5	Each	\$2,845.00	\$14,225.00	\$3,025.00	\$15,125.00	\$3,585.00	\$17,925.00	\$5,000.00	\$25,000.00	\$3,200.00	\$16,000.00	\$3,800.00
15	•	1	Each	\$2,940.00	\$2,940.00	\$3,186.00	\$3,186.00	\$3,750.00	\$3,750.00	\$5,000.00	\$5,000.00	\$3,238.00	\$3,238.00	\$4,000.00
16		85	LF	\$54.00	\$4,590.00	\$53.50	\$4,547.50	\$97.00	\$8,245.00	\$35.00	\$2,975.00	\$80.00	\$6,800.00	\$100.00
17	Furnish & Install Connect to Existing Service	2	Each	\$250.00	\$500.00	\$250.00	\$500.00	\$350.00	\$700.00	\$600.00	\$1,200.00	\$800.00	\$1,600.00	\$2,500.00
18	Furnish & Install 4" Rigid Insulation	275	SF	\$3.65	\$1,003.75	\$2.50	\$687.50	\$5.00	\$1,375.00	\$3.00	\$825.00	\$7.00	\$1,925.00	\$10.00
19	Furnish & Install 24" Steel Casing Bored and Jacked	100	LF	\$359.00	\$35,900.00	\$345.00	\$34,500.00	\$348.00	\$34,800.00	\$400.00	\$40,000.00	\$300.00	\$30,000.00	\$600.00
20	Furnish & Install 42" Storm Main	280	LF	\$76.00	\$21,280.00	\$89.00	\$24,920.00	\$124.00	\$34,720.00	\$105.00	\$29,400.00	\$105.00	\$29,400.00	\$140.00
21	Furnish & Install 30" Storm Main	335	LF	\$60.00	\$20,100.00	\$76.60	\$25,661.00	\$69.00	\$23,115.00	\$86.00	\$28,810.00	\$85.00	\$28,475.00	\$120.00
22	Furnish & Install 24" Storm Main	285	LF	\$45.00	\$12,825.00	\$45.30	\$12,910.50	\$58.65	\$16,715.25	\$58.00	\$16,530.00	\$70.00	\$19,950.00	\$90.00
23	Furnish & Install 18" Storm Main	160	LF	\$35.00	\$5,600.00	\$41.60	\$6,656.00	\$44.85	\$7,176.00	\$52.00	\$8,320.00	\$65.00	\$10,400.00	\$80.00
24		1,260	LF	\$31.00	\$39,060.00	\$33.50	\$42,210.00	\$46.00	\$57,960.00	\$51.00	\$64,260.00	\$64.00	\$80,640.00	\$78.00
25	Furnish & Install 12" Inlet Lead	575	LF	\$33.00	\$18,975.00	\$41.70	\$23,977.50	\$47.25	\$27,168.75	\$51.00	\$29,325.00	\$61.00	\$35,075.00	\$70.00
26	Furnish & Install Yard Drain	5/5	Each	\$825.00	\$4,125.00	\$934.00	\$4,670.00	\$920.00 *	\$4,600.00	\$1,500.00	\$7,500.00	\$1,400.00	\$7,000.00	\$1,500.00
27	Furnish & Install Inlet with Casting - Type "C"	14	Each	\$3,799.00	\$53,186.00	\$2,944.00	\$41,216.00	\$2,500.00	\$35,000.00	\$1,500.00	\$35,000.00	\$7,400.00	\$10,500.00	\$2,000.00
	* **	6	Each	\$3,662.00	\$21,972.00	\$2,806.00	\$16,836.00	\$2,300.00	\$13,740.00	\$2,500.00	\$15,000.00	\$585.00	\$3,510.00	\$1,900.00
28	Furnish & Install Inlet with Casting - Type "E" Furnish & Install 96" Storm MH		VF		\$32,600.00									
29		100	VF	\$326.00		\$700.00	\$70,000.00	\$1,230.00	\$123,000.00	\$1,000.00	\$100,000.00	\$1,165.00	\$116,500.00	\$950.00
30	Furnish & Install 72" Storm MH	37	VF	\$445.00	\$16,465.00	\$380.00	\$14,060.00	\$567.00	\$20,979.00	\$800.00	\$29,600.00	\$310.00	\$11,470.00	\$550.00
31	Furnish & Install 60" Storm MH	15		\$421.00	\$6,315.00	\$347.00	\$5,205.00	\$474.00	\$7,110.00	\$600.00	\$9,000.00	\$445.00	\$6,675.00	\$500.00
32	Furnish & Install Standard Storm MH	85	VF	\$235.00	\$19,975.00	\$216.00	\$18,360.00	\$337.00	\$28,645.00	\$600.00	\$51,000.00	\$190.00	\$16,150.00	\$450.00
33	Furnish & Install Storm MH Casting	19	Each	\$550.00	\$10,450.00	\$692.00	\$13,148.00	\$775.00	\$14,725.00	\$750.00	\$14,250.00	\$585.00	\$11,115.00	\$650.00
34	Furnish & Install Storm Box MH	1	Each	\$15,000.00	\$15,000.00	\$10,752.00	\$10,752.00	\$12,000.00	\$12,000.00	\$12,000.00	\$12,000.00	\$28,000.00	\$28,000.00	\$12,000.00
35	Furnish & Install Temporary Barrier	240	LF	\$10.00	\$2,400.00	\$25.00	\$6,000.00	\$49.35	\$11,844.00	\$30.00	\$7,200.00	\$30.00	\$7,200.00	\$50.00
36	Furnish & Install Tracking Pad	3	Each	\$0.01	\$0.03	\$1,500.00	\$4,500.00	\$1,050.00	\$3,150.00	\$1,000.00	\$3,000.00	\$1,225.00	\$3,675.00	\$1,000.00
37	Furnish & Install Silt Fence	1,950	LF	\$2.00	\$3,900.00	\$2.50	\$4,875.00	\$3.12	\$6,084.00	\$4.00	\$7,800.00	\$3.00	\$5,850.00	\$4.00
38	Furnish & Install Soil Stabilizer, Type B	6,950	SY	\$0.40	\$2,780.00	\$0.01	\$69.50	\$2.08	\$14,456.00	\$0.50	\$3,475.00	\$3.00	\$20,850.00	\$1.00
39	Furnish & Install Erosion Mat	6,950	SY	\$1.75	\$12,162.50	\$1.25	\$8,687.50	\$2.08	\$14,456.00	\$2.00	\$13,900.00	\$2.00	\$13,900.00	\$2.00
40	Furnish & Install Restoration	2	Acre	\$9,150.00	\$18,300.00	\$3,570.00	\$7,140.00	\$21,345.00	\$42,690.00	\$10,000.00	\$20,000.00	\$12,500.00	\$25,000.00	\$3,200.00
41	Furnish & Install Clearing and Grubbing	1	LS	\$32,300.00	\$32,300.00	\$26,000.00	\$26,000.00	\$20,800.00	\$20,800.00	\$14,000.00	\$14,000.00	\$45,500.00	\$45,500.00	\$15,000.00
42	Furnish & Install Topsoil Stripping	9,100	SY	\$1.00	\$9,100.00	\$1.25	\$11,375.00	\$1.00	\$9,100.00	\$1.00	\$9,100.00	\$1.00	\$9,100.00	\$1.50
43	Furnish & Install Excavation (Raw)	5,450	CY	\$5.50	\$29,975.00	\$4.25	\$23,162.50	\$5.46	\$29,757.00	\$10.00	\$54,500.00	\$15.00	\$81,750.00	\$8.00
	Furnish & Install Borrow (Raw)	8,650	CY	\$0.01	\$86.50	\$6.00	\$51,900.00	\$11.65	\$100,772.50	\$12.00	\$103,800.00	\$15.00	\$129,750.00	\$12.30
	Furnish & Install Removal of Hazardous Soils (Raw)	39	CY	\$10.00	\$390.00	\$70.00	\$2,730.00	\$315.00	\$12,285.00	\$200.00	\$7,800.00	\$155.00	\$6,045.00	\$100.00
46	Furnish & Install Undercut	125	CY	\$23.00	\$2,875.00	\$40.00	\$5,000.00	\$23.00	\$2,875.00	\$20.00	\$2,500.00	\$20.00	\$2,500.00	\$20.00
47	Furnish & Install Geogrid	8,490	SY	\$1.57	\$13,329.30	\$2.00	\$16,980.00	\$2.00	\$16,980.00	\$8.00	\$67,920.00	\$2.00	\$16,980.00	\$1.50
48	Furnish & Install Crushed Aggregate Base Course (6")	25,365	SF	\$0.40	\$10,146.00	\$0.42	\$10,653.30	\$0.73	\$18,516.45	\$0.60	\$15,219.00	\$0.50	\$12,682.50	\$1.00
49	Furnish & Install Crushed Aggregate Base Course (12")	8,490	SY	\$5.80	\$49,242.00	\$6.95	\$59,005.50	\$6.58	\$55,864.20	\$8.00	\$67,920.00	\$7.00	\$59,430.00	\$7.00
	TOTAL ITEMS 1 THROUGH 49:			_	\$856,239.08	*	\$943,594.30	* =	\$1,253,631.15		\$1,318,519.00		\$1,337,000.00	

BID TABULATION STREET GRADING, BASE AND UTILITIES PROJECT BB-08 RIVERHEATH

				#1 - Vinton Const.		#2 - Advance Const., Inc.		#3 - PTS Contractors, Inc.		#4 - Van Straten Const. Co.		#5 - Kruczek Const., Inc.		#6 - Carl Bowers
				Unit	Total/\$	Unit	Total/\$	Unit	Total/\$	Unit	Total/\$	Unit	Total/\$	Unit
<u>ltem</u>	Description	Qty./	<u>Unit</u>	Price/\$		Price/\$		Price/\$		Price/\$		Price/\$		Price/\$

\*Corrected Amount 07/23/13

## s & Sons

Total/\$

\$195,000.00
\$6,750.00
\$1,600.00
\$900.00
\$186,000.00
\$8,400.00
\$5,850.00
\$39,000.00
\$4,800.00
\$8,400.00
\$16,000.00
\$2,100.00
\$400.00
\$19,000.00
\$4,000.00
\$8,500.00
\$5,000.00
\$2,750.00
\$60,000.00
\$39,200.00
\$40,200.00
\$25,650.00
\$12,800.00
\$98,280.00
\$40,250.00
\$7,500.00
\$28,000.00
\$11,400.00
\$95,000.00
\$20,350.00
\$7,500.00
\$38,250.00
\$12,350.00
\$12,000.00
\$12,000.00
\$3,000.00
\$7,800.00
\$6,950.00
\$13,900.00
\$6,400.00
\$15,000.00
\$13,650.00
\$43,600.00
\$106,395.00
\$3,900.00
\$2,500.00
\$12,735.00
\$25,365.00
\$59,430.00
\$1,395,805.00

s & Sons

Total/\$